Alternative Maths Learning intention – Understanding Ratio and proportion
Colour the counters so that they are in the correct ratio

	Coloured in : Not coloured in = 2 : 1
	

	Coloured in : not coloured in = 1 : 3
	

	Not coloured in : coloured in = 1 : 2
	

	Not coloured in : coloured in = 2 : 3
	

	Coloured in : not coloured in = 3 : 2
	

	Coloured in : not coloured in = 4 : 1
	

	Not coloured in : coloured in = 3 : 1
	


Solve these problems:
To solve these problems, you need to find the cost of 1 and then multiply it by how many you need to find.

	4 oranges cost 24p.

Divide 24p by 4

1 orange costs ___

	3 sweets cost 36p
Divide 36p by 2
Multiply the answer by 1

1 sweet costs___
Multiply the answer by 2

2 sweets cost ___

	5 puzzles cost £10

Divide 10 by 5
Multiply the answer by 1

1 puzzle costs___
Multiply the answer by 3
3 puzzles cost___

	7 t-shirts cost £14
Divide £14 by 7
Multiply the answer by 2
2 t-shirts cost___

	8 footballs cost £16

Divide £16 by 8
Multiply the answer by 5
5 footballs cost___

	9 jumpers cost £45

Divide £45 by 9
Multiply the answer by 6
6 jumpers cost___


